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B R h D AR IR X AR E

BA3—2 BEYICHERITHIEBEINSEEICEATHEIEN/1) REEE | RIS/
[ AERONE | Bmes T615N0I18 1 B % | ] [ Gl [l L 2t
. SMERMO T inIZHET ST ZERIHA
ﬁﬁg TREOBBDESLADKRES TREQHBESSLADKRES TREOBBOESLADKRES TREDOHBEILHOKRES
&S K 4 ;,%'ma)c Tﬁﬁyﬁ\(i)ﬂ)ﬂﬁ%ﬁ jj(:ilitrié R 4 ﬁﬁﬁ’é}%’ﬁ)ﬂ ‘(.%‘mf jj(gilitrié B 4 ;,%'ma)c J:ﬁﬁ;b\(i)cbttr%‘ jj(gil;trié K 4 J:ﬁn“ﬁ;b\(r‘»_:)o)tt‘.%‘ ;.%'mf jj(gil;tnié
; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 5673 71.58 | =St | 000 ~ 000 1.57 7.92 znLst 1.00 | 5.00 ~ 7.00 71.68 | FnRS | 5,00 ~ 7.00|1.57 7.92
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 5.51 68.84 | =St | 000 ~ 0.00] 1.58 7.99 ZznLst 1.00 | 5.00 ~ 6.50 68.84 | =hS | 6,00 ~ 6.50 | 1.68 7.99
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLs 1.00 1 000 ~ 598 74.91 | =LY | 000 ~ 0.00)1.72 8.71 znLst 1.00 | 5.00 ~ 6.80 74.91 | FnRS | 5,00 ~ 680|172 8.71
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8 %% — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 | 000 ~ 571 71.31 | =S | 000 ~ 571 1.80 9.09 znLst 1.00 | 5.00 ~ 6.40 71.31 | =S | 6,00 ~ 6.40 | 1.80 9.09
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 5673 71.63 | =nLsY | 000 ~ 573)1.86 941 ZznLst 1.00 | 5.00 ~ 6.60 71.63 | EnRS | 65,00 ~ 6.60 | 1.86 941
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 0.00 ~ 5633 66.47 | TS | 000 ~ 533)1.96 9.92 ZznLs 1.00 | 5.00 ~ 6.40 66.47 | ThS | 65,00 ~ 6.40 | 1.96 9.92
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 5.60 69.92 | =S | 000 ~ 000)1.77 8.97 ZznLst 1.00 | 5.00 ~ 6.20 69.92 | #nLS | 65,00 ~ 620|177 8.97
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 548 68.41 | =Sy | 000 ~ 000 1.73 8.75 ZznLst 1.00 | 5.00 ~ 6.00 6841 | =hSt | .00 ~ 6.00|1.73 8.75
9 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLst 1.001 000 ~ 477 59.41 | =hst | 0oo ~ 000|176 8.88 znLst 1.00 | 5.00 ~ 5.00 59.41 | =N | 5,00 ~ 5.00)|1.76 8.88
100kN/M%Z#B % % ~ IMEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZhLst ~ Zhst ~ ZhnLst ~
100kN/M%Z#B % % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZhLst ~ Zhst ~ ZhLst ~
100kN/M%Z#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZhLst ~ Zhst ~ ZhnLst ~
100kN/M%Z#B % % ~ IMERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZnLst ~ Zhst ~ ZhLst ~
100kN/M%Z#B % % ~ IMEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZhnLst ~ Zhst ~ ZhnLst ~
100kN/M%Z#B % % ~ IMEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zhLst ~ Zzhn st ~ zhLst ~ zhn st ~
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